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The following abbreviations may appear in this examination paper

Die volgende afkortings mag in hierdie eksamenvraestel voorkom

ENGLISH

marginal propensity to consume
consumption spending
demand for bonds

nominal exchange rate
expected nominal exchange rate
real exchange rate
government spending
Investment spending

foreign interest rate

demand for money

supply of money

real money supply

trade balance

price level

price of bonds

supply of bonds

nominal wage

real wage

exports

output and income level
foreign output and income level
natural level of output

total demand

demand for domestic goods

AFRIKAANS

grensverbrulksgeneigdheid
verbruiksbesteding

vraag na effekte

nominale wisselkoers
verwagte nominale wisselkoers
reele wisselkoers
owerheldsbesteding
investeringsbesteding
buitelandse rentekoers

vraag na geld

aanbod van geld (geldvoorraad)
reele geldvoorraad
handelsbalans

pryspell

prys van effekte

aanbod van effekte

nominale lone

reele loon

uitvoer

produksie- en inkomepeil
buitelandse produksie- en inkomepeil
natuurhke produksiepeil

totale vraag

vraag na binnelandse goedere
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Read all instructions CAREFULLY before answering the questions
This paper consists of two (2) sections A and B
Lees al die instruksies NOUKEURIG voor u die vrae beantwoord
Hierdie vraestel bestaan uit twee (2) afdelings* A en B.
SECTION A: COMPULSORY (50 marks)
AFDELING A VERPLIGTEND (50 punte)
INSTRUCTION ANSWER ALL THE QUESTIONS
INSTRUKSIE BEANTWOORD AL DIE VRAE
QUESTION 1/VRAAG 1 (14 marks/14 punte)
Question 113 based on the following information
Marginal propensity to consume = 08
Autonomous consumption spending = R100 million
Investment spending = RS50 milhon
Government spending = R40 milion
Taxes = R20 milion
Full employment level of output and income = R980 milion
Vraag 1 berus op die volgende inhgting
Grensverbruiksgeneigdheid = 08
Outonome verbruiksbesteding = R100 miljoen
Investenngsbesteding = R50 mijoen
Owerheidsbesteding = R40 miljoen
Belasting = R20 mijoen
Volle indiensnemingsproduksie- en inkomepell =  R880 miljoen
a Calculate the multiplier Show the formula and calculations (1)
a Bereken die vermenigvuldiger Toon die formule en berekeninge (1
-
4 - I—mpC
—
< 1-0-%
= 5
[TURN OVER]
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Calculate autonomous spending Show the formula and calculations (1)
Bereken outonome besteding Toon die formule en berekeninge (1)

Z: CQ‘\'I'tﬁ"'CT

= 00 * S0+ Ho-0.3(0)

= |"‘”+

Calculate the equilibrium level of output and income Show the formula and calculations (2)

Bereken die ewewigsproduksie- en -inkomepell Toon die formule en berekeninge (2)
¥ - «xZo

« Sxi14

= 370

Calculate the income gap between the current level of output and income and the full

employment level of output and income Show the formula and calculations )]
Bereken die inkomegaping tussen die huidige produksie- en inkomepell en die volle
indiensnemingspell van produksie en inkome Toon die formule en berekeninge (1)
ﬂr— _\|€ = C{SO - %1’0
= VO
Dot &Y

i ;
(R'_ Wr‘i@jﬁg [TURN OVER]
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Government spending can be used to reach full employment in the goods market

By how much should the government spending change?

Show your calculations and indicate the direction of the change in government
spending (2)

Owerheidsbesteding kan gebruik word om volle indiensneming in die goederemark
te bereik Met hoeveel moet owerheidsbesteding verander?

Toon u berekening asook die ngting van verandenng in owerheidsbesteding (2)
AG = de-e
oA
= MO
=
= 24

Taxes can be used to reach full employment in the goods market By how much
should taxes change?

Show your calculations and indicate the direction of the change In taxes (2)

Belasting kan gebruik word om volle indiensneming in die goederemark te bereik
Met hoeveel moet belasting verander? Toon u berekening asook die rnigting van ver-
andering in belasting (2)

AT = g

“AXC

- no

-5%x0.%

= =21.5 o
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Use the goods market model (axes below) to present the above economy graphically
Clearly indicate the following on the diagram,

current equilibrium level of output and income,

full employment level of output and income,

Income gap (or unemployment gap),

change in government spending and the change in taxes,

initial autonomous spending and the change in autonomous spending (5)

Gebruik die goederemarkmodel (asse hieronder) om die bostaande ekonomie grafies voor
te stel Toon duidelik die volgende op die diagram aan,

huidige ewewigsproduksie- en —inkomepell,

volle indiensnemingspeil van produksie en inkome,

inkomegaping (of werkloosheidsgaping),

verandering in owerheidsbesteding en die verandering in belasting,

aanvanklike outonome besteding en die verandering in outonome besteding (5)

"i 'fg‘"ﬁ"i;:‘%ﬁ ¥ ;ié'{g::, sI*14%Go0dS market mg‘del Jtﬂg ?i #‘ v DY @r I‘Jfo.

e wﬁ:.:Goed"é'remarkmoda a5* ".»,g.,a*“!n," s B

4 Ne
Z.%y
ZZ

\

196

74
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QUESTION 2/VRAAG 2 (14 marks/14 punte)
Question 2 1/Vraag 2.1 (6 marks/6 punte)

Use the following diagram to illustrate and explain in words why an expansionary maonetary
policy causes a decrease In the interest rate in the financial market (6)

Gebruik die onderstaande diagram om te illustreer en te verduidelik in woorde waarom 'n
ekspansionistiese monetére beleid 'n daling in die rentekoers in die finansiele. mark veroorsaak (6)

L Mo MG

1N

%7?6? L"L"'—
WO? (‘.;_ EE R
N\

i M
‘An_ zapaionary  mocetany  olicy ceults whighes
Supply sf Naney .,
- Noney  Supphy i crease
cab be  excsbog mberest  rate (L)) an recess Supphy &
1aYeYs A1 Q%f&f&\:
. damard  forloonds ncrease ;, s resulty in highe
,;art'(.'e for Vonde ond nteredt @mtet deceage,

CA® oF eveurs - MY 56el » B4 5ol (nat aked For)

[TURN OVER]
[BLAAI OM]



8 ECS2602

05/06 2015
Question 2 2/Vraag 2.2 (8 marks/8 punte)
a Define a government budget deficit (1)
a Definieer 'n owerheidsbegrotingstekort (1)

—

.+ is a sthuaben [condibon  whee Grovernmend
SPmch‘ng i __greater than  goveravent cyerue Graxatian)

b Which stabilisation policy can be used to reduce a budget deficit? (1)

b Watter stabiliseringsbeleid kan gebruik word om 'n begrotingstekort te verminder? 1

-Contractionary Rcod  policy

c Use the IS-LM model and chain of events (or words) to illustrate and explain how the
negative impact of a budget deficit reduction on the level of output and income can be

counteracted by monetary policy Clearly indicate the vanables measured on the axes
below (6)

c Gebruik die IS-LM-model en gebeurteniskettings (of woorde) om te illustreer en te
verduidelik hoe die negattewe impak van 'n begrotingstekortvermindering op die
produksie- en inkomepeil teengewerk kan word deur monetére beleild Toon duidehk
die veranderlikes wat gemeet word op die onderstaande asse (6)

[TURN OVER]
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QUESTION 3/VRAAG 3 (13 marks/13 punte)
Question 3.1/Vraag 3.1 (7 marks/7 punte)
a Define a depreciation of the nominal exchange rate (1)
a Definieer 'n depresiasie van die nominale wisselkoers ()]

'k olecreuse n the \fd‘uf OF g Curencyd,
Y
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Use the following diagram to show graphically (illustrate) and to explain the impact of a
depreciation of the R/$ exchange rate on the leve! of output and income and on the trade

balance (6)

Gebruk die volgende diagram om die impak van 'n depresiasie van die R/$ wisselkoers
op die produksie- en inkomepell en die handelsbalans grafies aan te toon (te illustreer) en

te verduidelik (6)

0 Yo

1
|
|
I
|

7\
o > 4
\\ \N)(’
NX
Explanation/Verduideliking

I L)

Traeact ¢n tde balance
EL > Xt — KA
O > 24 33 2 1M =& NRY)  opbional |
‘TImpad ¢f exporh on txade balance deminates the
wpact of t?ﬂéort%, wnce trade bdlanct v pvvel .
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£y X1 24 541

Question 3.2/Vraag 3 2 (6 marks/6 punte)

Study the following diagram which represents an 1S-LM model for an open economy and answer the
questions that follow

Bestudeer die onderstaande diagram wat die IS-LM-model vir 'n cop ekonomie verteenwoordig en
beantwoord die vrae wat volg

LS

i A i IS'EM model, Jfor’an open’economy, s e ST esiit i H e T
b= e o e a2 o= (BT Py ";erﬂ- =
?"g““’;@?ﬁ “—%ﬁ"ls- EM:inodelVieiioop. sKonomierat: Lt 8, -ai % g}"pi‘e:l_‘

a  What causes the shift of the LM curve in the above diagram? Clearly indicate the change
in the direction of the factor (1)

a Wat veroorsaak die verskuwing van die LM-kromme in die bostaande diagram? Toon
duidelik die ngting van die verandering van die faktor aan (1)

Increa®g n nONEY Su??\\é\,
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Use the above diagram to explain the possible impact of the shift of the LM curve on the
(1) interest rate, (i) the financial account of the balance of payments, () the exchange
rate, (iv) the trade balance and (v) the level of output and income (5)

Gebruik die bostaande diagram om die moontlike impak te verduidelik van die verskuiwing
van die LM-kromme op die (1) rentekoers, (n) die finansiele rekening van die
betalingsbalans, (1) die wisselkoers, (v) die handelsbalans en (v) die produksie- en
inkomepell (5)

Explanation/Verduideliking

Tapact on

(" (i Lntecet cate

Nt D4 50

J

Gty Finoncial _Accuat of the Baleace  of Payognts

=7

7
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Cap gl athow — EV

[ Tiee
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(V) Lew__\ of oculput and incong .

\

A > zAh o9

= OR,

([ BnanNCc I~ NACKET
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Goonf MARKE T

(,&-) M7 >N
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D
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QUESTION 4/VRAAG 4 (9 marks/9 punte)
Study the AS-AD model below and answer the questions that follow
Bestudeer die onderstaande AS-AD-model en beantwoord die vrae wat volg

] ‘I il 1 "”‘AS'AD mOdep*‘ Aﬂ:— "91"914' - L2 'n:'n'z”: y
‘hmg %ﬂ %“*’Eﬂ m% ASE ADl-}'nodel?r'ﬁ R "f'uitﬂf'ﬁ*'“ *?‘*"*i

‘3‘&-‘-&&3 ek et

a List one factor that will shift the AD curve to AD; Clearly indicate the change In the
direction of the factor (1)

a Lys een faktor wat die AD-kromme na AD, sal verskuif Toon duidelik die ngting van die
verandering van die faktor aan (1)

ddof te Pllowing - Decreage n Government Spending
N T+ JIncreate n Taxabion
¢ Decrease in mGney SLLPP\:J

[TURN OVER]
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identify the short run and the medium to long run equilibrium positions in the above

diagram

(2)

Identifiseer die korttermyn- en medium tot langtermyn ewewigsposisies in die bostaan-

de diagram

(2)

Ohect - Run

. a o b

NMedium Lonﬂﬁun c b t0C

Study the movement from point a to pont b The changes in three vanables are
summarised in the table below Explain the reason for the change in these vanables (3)

Bestudeer die beweging van punt a na punt b Die verandering in drie veranderlikes I1s
opgesom In die onderstaande tabel Verdudelik korthks die rede vir die verandening Iin

hierdie veranderlikes

©)

r—% fariable/ &k % Change/siEeny | W lReason forthe changel s el g
“AVerander uﬁ@% }gvmﬁé‘rﬁmeﬁ- ﬁ&ﬁlﬁé’deﬂﬁF}dlﬁ%’éi‘éh‘d?ﬂﬁﬁ’r"%ﬁﬁﬁ@ﬁ« it
Interest rate/ decreases/
Rentekoers daal . b‘u'e to a d€ creale
m deen and i msney
Investment spending/ uncertain/ -
Investeringsbesteding onseker ) A“ mam,? - “f I'L @ates
«A decreage n nTEre
with a  gmualtaneous
cdecreate s lewl of sutput
daNd A Ceng .
Nominal wage/ decreases/ - "
Nominale loon daal *ndCrease un?mP\Gt{meat
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Study the movement from point b to point ¢ The changes in three vanables are
summarised in the table below Explain the reason for the change in these variables 3)

Bestudeer die beweging van punt b na punt ¢ Die verandering in drie veranderlikes Is
opgesom In die onderstaande tabel Verduidelik kortliks die rede vir die verandering in

hierdie veranderlikes

(3)

, setVanablel.: B MChange! T, %*Ré‘aﬁqﬁ forthe changel: mr"% i o 2
wﬁmndeﬂlk%u HVerandeﬂ ELIVON %"m Rede.vir.di dle vertémdermg o otk T

Interest rate/ decreasesf

Rentekoers daal nCt‘ean Iﬂ reql @ PP\j

Of ™o ney

Nominal wage/ decreases/ :

Nominale loon daal -decreage m u r\melb\dW“ t

Real money supply/ Increases/ *

Reele geldvoorraad styg tWCres

o decrease n e prvce |ovel
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SECTION B COMPULSORY (50 marks)

THE ENGLISH VERSION OF THE MULTIPLE CHOICE QUESTIONS START ON PAGE 19
THE AFRIKAANS VERSION OF THE MULTIPLE CHOICE QUESTIONS START ON PAGE 27
INSTRUCTIONS

in this section ALL questions must be answered on the mark reading sheet which 1s supplied
Carefully follow the instructions for the completion of a mark reading sheet.

()  Suppose a question reads as follows
An increase In the level of output
decreases the level of income 1n the economy
has no impact on the level of Income in the economy

Increases the level of iIncome n the economy
causes firms to employ less factors of production

BN =

The correct answer 1s 3 You must therefore mark 3 on your mark reading sheet

(1) Only one of the alternatives per question - listed as 1, 2, etc — 1s correct You must therefore
not mark more than one alternative per question

(m) For a correct answer you receive 2%z marks. No marks are deducted for incorrect answers

(v) Section B consists of 20 questions and thus counts 50 marks out of the total of 100

.N'ﬂ}q&"f 1,.||,‘,_?§.,'p-% {‘ti!“‘:""miuﬁ"-rf E};m whall! B F 1.:.- o ol o] Dot :I;Tr}‘w'?&m u_.{,, ;{ “’Lt"' .}_

g = parer glo 47 «Hywra »hu;.l‘; e

gYouqmark readmg sheet may..get lost. gYou MUSTathareforhe also write yourianswers to this
.sectlnn ompage 26 Gf, yo r‘?,gazntamlrlatit:m ans%e; "book, for example 1(4), \2(3). > 3(1). uat::j ‘1-]' Y _..

f#‘g *fnr?.ﬁﬂl.\ fw‘ S En 1'.!'*“":?‘ » el ..Jl Ll

I T e B «c-ﬁ:ni i‘# \.u-rztn:-: ik '.-l;y vn ~F _.=§<"
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AFDELING B: VERPLIGTEND (50 punte)

DIE AFRIKAANSE MEERKEUSEVRAE BEGIN OP BLADSY 27

INSTRUKSIES

In hierdie afdelrng moet AL die vrae op die merkleesblad wat voorsten 1s, beantwoord word Volg die
Instruksies vir die voltooling van 'n merkleesblad sorgvuldig.

()  Veronderstel 'n vraag lees soos volg
'n Styging in die produksiepeil
1 verminder die inkomepeil in die ekonomie
2 het geen invioed op die inkomepeil In die ekonomie
3 verhoog die inkomepell in die ekonomie
4  veroorsaak dat firmas minder produksiefaktore in diens neem

Die korrekte antwoord 1s 3 U moet dus 3 op u merkleesblad merk

()  Slegs een van die alternatiewe per vraag, gelys as 1, 2, ens is korrek U moet dus nie meer as
een alternatief per vraag merk nie

(m) Vir 'n korrekte antwoord ontvang u 2% punte Geen punte word vir verkeerde antwoorde
afgetrek nie

(v) Afdeling B bestaan uit 20 vrae en tel dus 50 punte uit die totaal van 100

uU. ) imgg wegraak l.'..l I'gQGETJst}:p’oE' uzantw%orde op,hterdle afdelmg lcu|:| bladsy.. 4:
,gﬁ:g%ksdarhﬁn"é rdboekln&erskryf.‘byvoorbeeld 1(4},?2(3), 3{1),:ens.' »V Pt ‘s--'“ s ,'.ﬂ«
AR

ey e X bty
Ja"‘.'}.{.g'l‘"zr‘u‘*"‘:s&'ﬁ“"g Mo Rt WY, -1!"'}?"?1‘,1""”"' ‘m&% ‘,.f h‘;ﬁl.«, BT “_l oy s 13 I

L 5‘_%%'—'_?-}'5;%31? T _.‘ 4"’.-.“,15"‘1 __f -fq fﬂ‘rt'{;‘q. _fui foe ‘5"-”1!‘ Tarrti[m}s HEE ‘,';.n”,:ﬁh- "' “"“ ,ﬁ,;‘ﬂl"' ik 1
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SECTION B. COMPULSORY (50 marks)

;W 'si"*'ﬁaﬂw ?ﬁLF""“':‘ o B AR

ue numben.for.Ecszsoz' 187474830
’Lz. %H.Tﬁ?. F"‘;’“""j gw‘;;‘;% Z.s.'. et e

Y eyl Sy A g™ P E

1 Which of the following statements is/are correct?

o

HWN =

®

The GDP 1s the total value of all final and mt_eLnl';mate goods and services produced
within the boundaries of a country dunng a particular penod

An increase in nominal GDP will always lead to an increase in real GDP ~

Given a population growth rate of 3% per annum in South Africa, a real ecor *mlc growth
rate of between 2% and 3% Is needed for the real GDP per capita to increase

The so-called “jobless growth" refers to a situation where yployment stays the same or
even declines during peniods of positive economic growth

a,b,candd
Onlya,bandc
Onlybandc
Only aand d
Only d

Question 2 refers to the following diagram which represents the balanced budget multiplier Study the
diagram and answer the following question

z ‘:ZLSD

’ C"'
’,/ . AA"‘}’ l.-:’ Q\D‘-‘-D
2 . 209
/ 4 ﬁ \f — )
700

500

o
n
o
o

2  The net effect of the budget balanced on the level of output and income 1s
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&
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equal to 0 (zero)

an increase of 1 000
an increase of 200
an increase of 100
a decrease of 40
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Contractionary monetary policy involves the

1
@
3
4

selling of bonds by the central bank on the open market to increase the supply of money
and the interest rate will decrease

selling of bonds by the central bank on the open market to decrease the supply of money
and the interest rate will increase

buying of/bonds by the central bank on the open market to decrease the supply of money
and the'interest rate will increase

g of bonds by the central bank on the open market to increase the supply of money
d the interest rate will decrease

~,

v

The impact on the equilibrium interest rate of an increase In income with simultaneous
expansmnag open market operations by the central bank is
L

1
2

a lower equilibrium interest rate
a higher equilibrium Interest rate
uncertain (the equilibrium interest rate can be higher, lower or the same)

An upward movement along the IS curve is the result of a(q]

1
2
3
@
5

A
increase In investment spending

increase in government spending

improvement in consumer confidence in the economy
increase In the interest rate

decrease in taxation

Study the following LM curve and answer question 6 that follows

LMy
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6 Which of the following statements i1s/are correct?
At point a the demand for money 1s higher than at pointb ¥

a
b At point ¢ the money supply 1s higher than at point a
At point a, point b and point ¢ the financial market i1s in equilibrium v’

(2]

1 abandc 5 ) by Figead Expan Ubncay inetrey
2 Onlya Eﬁlj& T ’lt’:ﬂ—:'i' 1 [

3 Onlyb NT = umb 2 | A ff 5
(gj Only ¢ L-fk -5 14 Ll

Onlyaandc
VA

7 Comparing the impact in the 1S-LM model for a closed economy of an expansionary monetary
policy with an expansionary fiscal policy on investment spending the result is that

In both cases investment spending definitely increases

In the case of fiscal policy investment spending I1s indeterminate and In the case of
monetary policy investment spending i1s higher

In both cases investment spending 1s indeterminate

In both cases investment spending is definitely lower

In the case of fiscal policy investment spending 1s higher and in the case of monetary
policy investment spending is lower

wsw (s

8 Which one of the following combinations are endogenous vanables in the 1S-LM model?

1 The Yp part of the consumption function and the marginal propensity to consume (c)
2 Autonomous investment spending (1) and government spending (G)
3 The supply of money (M®) and taxation (T)
@ The part of investment (l) that is dependent on income and the interest rate as well as the

part of the demand for money (M°) that 1s determined by the interest rate and the level of
output and income

Interest rate on RSA bonds 7%
Interest rate on USA bonds 3%

9  Given the following information ug A
49 et

Which one of the following statements i1s correct?
1 If the expected depreciation of the rand 1s more than 4% financial market participants will

buy RSA bonds
@ If the expected depreciation of the rand 1s more than 4% financial market participants will
buy USA bonds

3 If the expected depreciation of the rand is 5% financial market participants will be
indifferent between RSA and USA bonds

4 If the expected appreciation of the rand i1s 5% financial market participants will buy USA
bonds

[TURN OVER]
[BLAAI OM]



10

11

12

22 ECS2602
05/06 2015

An increase In the real exchange rate imples that

a

South Afnican goods are relatively cheaper than the goods produced in the rest of the

world

by \/SA goods are relatively more expensive than the goods produced in the rest of the world

a0

1
2
3

exports will increase

exports will decrease

aandc
bandc
aandd
bandd
Only d

Which of the following statements are correct?

Imports are a function of the

mh@l\.‘l—x acooo

level of domestic output and iIncome
level of output and income of the trading partners
real wage

real exchange rate”” ,M ‘F ( ]: \_.]3
s = £( E, f’)

Onlyaandd

Onlybandd N}{ - (—E J?- J\j)

Onlyaandc

Which one of the following statements i1s correct?
The impact of a decrease in domestic demand on the trade balance, for instance through a
decrease In government spending, can be presented by the following chain of events

1
@
3
4
5

G| - Z|— Y| — IM] = NX|
Gl — ZL — Y| — IM| — NXtv~
Gl — Z]l—> Y] = XY — NXt
Gl = Z|— Y| Xt — NX|

BT = Zt - Yt — IMt - NX|
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13 In the IS-LM model for an open economy fiscal contraction implies that the K

a ‘/lS curve will shift to the left and the interest rate decreases O ¥
b IS curve will shift to the nght and the interest rate increases
Aominal exchange rate decreases and a depreciation of the domestic currency takes

O

place i
d nominal exchange rate increases and an appreciation of the domestic currency fakes
place L
1 aandd
bandd
é aandc :
4 bandc Jé /

14  Comparing the impact of a contractionary monetary policy with an expansionary fiscal policy in

the I1S-LM model for an open economy on the exchange rate and trade deficit the results are
that

@"ln both cases the exchange rate appreciates and the trade deficit decreases—
in both cases the exchange rate appreciates while the trade deficit for fiscal policy
increases and for monetary policy it decreases
3  for fiscal policy the exchange rate depreciates and the trade deficit increases while for
manetary policy the exchange rate apprectates and the trade deficit decreases
for fiscal policy the exchange rate appreciates and the trade deficit decreases while for
monetary policy the exchange rate depreciates and the trade deficit increases

4
/ ‘\/ @ In both cases the exchange rate appreciates and the trade defic increases y

15 Which factor will NOT increase the bargaining position of workers?

1 Better labour laws and regulations to protect the workers
2 Better unemployment benefits
@ Positive labour market conditions
4 Lower unemployment rate
5 An increase In the level of output and income
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16 Which of the following statements are correct?

w
-

0,96

0,83
0,63

PS

a The barganed real wage at the natural rate of unemployment 1s 0 96 I~
b At point a the bargained real wage Is higher than the implied (or feasible) real wage
c The implied real wage 1s lower than the bargained real wage at point ¢
d The natural rate of unemplc\);;nent will decrease If the bargaining power of workers were
eroded by labour legislation
e An increase In the markup of firms will shift the PS curve upwards
1 aandc
2 aandd
3 b,cande
@ Onlybandd
5 b,dande

W= pe E( 57D

17  In the determination of nominal wages (W) in the labour market

1 a change In institutional factors will have no influence on nominal wage demands
2 a decrease In the expected price level, will increase nominal wage demands
better unemployment benefits will decrease nominal wage demands
é a higher unemployment rate, will decrease nominal wage demands

18  According to the pnce-setting relation which one of the following will increase the price per unit?

\
1 An increase In the unemployment rate D - W C ‘ + M)
(2D Anincrease in the markup of firms - T

3  Anincrease In the expected price level

4 An increase in the output and income level
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19 An upward shift of the aggregate supply curve (AS curve) can be presented by the chain of

events as follows D~ tNPe CT?,B ' CQ Lu@ b

1 G = 21— Y1 Y. V\Jé’d‘ é—f-fl(,
2 PIlo>(MP)— 11— Il =2] =Y]| fh a }.‘e >

3 ML (MP), — 11— I} =2} — Y] \ mA,l:La, 1 ;

@) P1—-Wt— Pt

20  Which of the following statements are correct?

a  Todenve the IS curve the interest rate changes in the goods market

b To derive the LM curve the demand for money changes to give a picture of what happens
in the financial market

c The AD curve gives a picture of what happens in the goods market, the financial market
and the labour market when the price level changes

d The AS relation captures the effects of output and income on the price level and I1s derived
from the wage-setting relation and pnc\e}settmg relation in the labour market

@ a,bcandd
Onlyaandb
3 Onlya, candd
4 Onlya, band d
5

Onlyaandd

The following two questions are for information purposes and do not count for any marks We will
appreciate it if you answer the questions

21 Did you make use of the CDROM for this module?

| did not receive it

| was not able to use it
| did not use it at all

| did not use it much

| used it extensively

AWK =
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